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1. Given the points A(-4, 5) and B(1, -5) find the midpoint.
i = [~ , -5) == i
midpt= (B, 22) (-3, 0)

2. Write the equation of a circle with a diameter that passes through the points (4, 5) and (-2, 8).

midpoint = (1, 13/2) (x- 172 +(y-13/2)°=r
(x-1)2 + (y-13/2)? =45/4 (4-17+(5-13/2=r
9+9/4=1r°
r? = 45/4

[3- Write The equation of a circle with center (-5, 3) W\JZ} =,g
(%5)% (-3 18

(-3,5) and is parallel to the line 2x - 3y - 7 = 0.

m5 39= zx-

i3
{;_SX) S D341
Sope-int = U~ FXT
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4.  Writethe equation of a line in slope-intercept and standard form that passes through the point

5. Write the equation of a line in slope-intercept and point-slope form that passes through the

ey )= 3-3) or 9+8-§'(X+®
537 gy
B3 - 27— = k-3

6.  Writean equationof a line pzrpzndmular to the line 2y = 4x - 10 that passes through the point

5. noformosked. Goeasy Lyg 2X- ‘3
§5z0H)  imeg
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7. State the domain and range of the function, g: {(-3, 1), (2, -B), (-1, -1), (3, 1)}

Domain: {-3: 2;- |I3} Range: {, )_5,_’}
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H7¥ wgey;:mix ‘r;ml a glvan s?‘ of %ﬂ(‘;rhther or not ﬂ-r: relﬁ‘sn is Eﬁ‘u'vﬂlo
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8-10: Sketchthe function. Find the domainand range.

algebraically. No -H-ou& ,

8. Sketch:

Domain: ("QO M>
e (-2, 1]
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. A Skeren y 11. Given: f(x)= x*- 3x + 4, find
.y =+2x- etch:

Domain: \/Z Db ”—’20 e f@)e 4- b+ 'l.= 2 b QG2s 4+"+4

23 J = It
Rerge [O [ i e fla-n= .
4 =304
10. = etch: - al-2a+\_3a+3+'+
-0"-50+8
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